EARAROBEEIERT — 2 N— IBISH —F

20

12128168 (B) 19EI£R1H

>R —# C43 (w8 | 1mEmml - |5 5) oo s
[AE4£] 1% :160,000  ~ 2#&:32,000 ™  37%&:14,000” . 43%&:11,000 " 57 :6,000
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— - I TR :38. -1-1- X — HILEA (£R)
F L TTET— B3 T 1(3_8)0 1-1-1-1 | 39.4 4 (4_352) E(E) BER
LT RIA Y L= B/ —TTIT— BINET 7 — L
O A BRERAH :38. == X = ERRD (2R
T4 I KNAH i g 56.0 (12318/25) reo2 |96 2 tg? ;ﬁﬁﬁg
LTANRTy>a B:RE2—"Jxh REBS
HHRE : -4-3- - NEEK (£R)
Yot R4 3 = 1.(369>.7 4-4-3-3 | 40.0 1 &2) ﬁfm%gﬂﬂ
LA T7AT7 B:T759TF7 EEN S
o -~ — BILRTF : —7-5-. — BRIk (£R)
1% /354 R G | e || - | 8 | EERE e
:4v2Y3Y B:O-LFrayYU— KA
S ok 4 4 | JIIAPASA 1:41.8 6-5-6-5 | 41.3| — 6 41 | FEF (&R
vrv—% 54.0 ) +3) fPEH—25
RgALNT Ry IR By raAvLFIL =#ie
2 R s 4 | BUIER 1:44.0 5-6-7-7 | 42.5| — 5 460 | MEBS (&R)
61111 g=2T2v7 ;4.0 (%1 +) +7) () BR%ES
L:xF1=FGr7— B:HY-—IbTS5vT BERS
o B 3 | BAR— 1:44.9 3-3-4-6 |44.8| — — | 447 |BWEH (&R
718l8 NIy MNEL/ 54.0 ) -8) ﬁ(ﬁ) R—RHT
Libh—KgT~N5— B:N7H>T790 ZAE-RKI7T7—L
LS LR 4 4 | REBES 1:46.9 7-8-8-8 | 44.9| — 7 437 | HARR (£R)
g 7| EALYTF 54.0 (51%) Gy | W) 77—z rEva>
R:TUBA ISR B RLRYz—7 BKZR Ly K
@ 1—F—@&BIEf
=== 2,5,8,4,1,3,7,6
Aol=5r= 2,5,8,4,3,1,6,7
G§a=7r= 2,5,4,8,6,3,1,7
43—+ — 2,5,4,6,3,8,1,7
[ RN
B OB 2 720M 714K 2-5 300M B E 2-5 920M &R 2-4-5 360M
8 B 2 1009 2-4 170 B H 2-5 2,040 JEH 2-5-4 4,850
5 1204 4-5 110H
4 1009

ABICOVWTRDTEEERROODE. TR LIV,




